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Multiplikation - vertikal Name:
L 6se jede Aufgabe. Antworten
1) 729 2) 119 3) 153 4) 273 .
. 75 . 93 .43 . 63 '
2.
3.
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. 96 . 95 . 95 e 29 '
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. 76 . 45 . 84 « 50 '
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13.
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Multiplikation - vertikal Name: L Osungsschliussel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
729 119 153 273 . 54675
. 75 . 93 . 43 . 63
3.645 357 459 819 ,  11.067
+51.030 +10.710 +6.120 +16.380
54.675 11.067 6.579 17.199  ||3 __6:979
4+ 17.199
5 6 7 8
) 172 ) 924 ) 328 ) 310 . 16512
. 96 . 95 . 95 e 29
1.032 4.620 1.640 2.790 s  87.780
+15.480 +83.160 +29.520 +6.200
16.512 87.780 31.160 8.990 7. _ 31160
8. 8.990
9 10 11 12
) 613 ) 673 ) 364 ) 341 . 46588
. 76 . 45 . 84 « 50
3.678 3.365 1.456 17.050 0. 30.285
+42.910 +26.920 +29.120
46.588 30.285 30.576 1. 30.576
» 17.050
13 14 15 16
) 547 ) 783 ) 469 ) 810 . 36.649
. 67 « 70 . 82 . 92
3.829 54.810 938 1.620 s 54.810
+32.820 +37.520 +72.900
36.649 38.458 74.520 15 38.458
6 74520
17 18 19 20
) 933 ) 636 ) 962 ) 256 o 17.727
e 19 . 54 . 37 . 58
8.397 2.544 6.734 2.048 1. 34.344
+9.330 +31.800 +28.860 +12.800
17.727 34.344 35.594 14.848 0. 35.594
0 14.848
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